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Zadanie 23. =SUMA(PIERWIASTEK(A4);B2))
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Vi=1
Vi =2
V9 =3
V16 =4
V36 =6
V100 = 10
a’ =1
al =a
12 =
1° =1
22 =
23 =



A B D |
1 | 20 40 NIE 0,14
2 8 4 TAK 0,07 KOT
3 5 19 22% 0,9 ALA
4 4 2 6 7,00z 15
5 5 3 5,00z 1
6 10 1 0

Zadanie 24. =B4N3

=B4n3 = B43=



A B D |
1 | 20 40 NIE 0,14
2 8 4 TAK 0,07 KOT
3 5 19 22% 0,9 ALA
4 4 2 6 7,00z 15
5 5 3 5,00z 1
6 10 1 0

Zadanie 24. =B4N3

=B4r3 = B47=23 =8



A B D E

1 20 40 NIE 0,14

5 8 4 TAK 0.07 KOT

- 5 19 229 0.9 ALA

4 4 2 6 7.00z 15

5 5 3 500z 1
5 10 1 0
Zadanie 25. =100*D3

=100*D3 =




A B ¢ D |
1 | 20 40 NIE 014
o 8 4 TAK 007 KOT
3 g 19 22% 09 ALA
4 | 4 2 6 7.00z 15
5 3 3 500z 1
6 10 1 0

Zadanie 25. =100*D3

=100*D3 =100 * 22% = 100 * 0,22 = 22



A B C D E

1 20 40 NIE 0,14

2 o 4 TAK 0,07 KOT
3 D 19 22% 0,9 ALA
4 4 2 G| 700 15

3 D 3 500

6 10 1

—la

Zadanie 26. =D4



A | | D |
1 20 40 NIE 0,14
2 o 4 TAK 0,07 KOT
3 D 19 22% 0,9 ALA
4 4 2 6| 700z 15
5| D 3 500 1
8] 10 1 0

Zadanie 26. =D4

=D4 = 7,00 zt



